[ normalized x? probability |

Entries 0.07F T =T =====T T

107}

0.3074.

" [Enties 2057
Mean 0.4216
Std Dev 0.3074

0.06

2057
1141
0.4757

1072
0.05

0.04]
0.03

0.02

0.0
o010 o+ i e A
: R
4 14 e
l i i i i i i i i i i
EERREEEN W
I e
09024 6 8 10 12 14 16 18 20 09%970.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
2 Prob(x2)

m———/.JCMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mKFit-DQM_new132

= DQM_TT__mkFit-DQM_newfastPlus132

A -

g b

S o18F----- s PR deeenns R R
R e AR SIS

Ratio

< X2/ ndf >
=
o)
T

X2 I ndf >

g
o)
T

05T Y
- L s ;

Ratio




	Contents
	Page 1


